Teofilo - Dhelaal / Green Desert

Top class pedigree and a success at stud

1st, 1st and 2nd on sires' average earnings list 2020-21-22



Teofilo – Dhelaal / Green Desert

Top class pedigree and a success at stud

Mutajally - a stallion with a unique pedigree and excellent results.

Closely related to numerous European champions, he is
established as one of the top stallions in Scandinavia,
with a remarkable 42% winners to runners record.



Mutajally's sire, the Galileo son **Teofilo**, was an undefeated champion 2-year-old in Europa. He has sired top class performers like **Trading Leather** (Irish Derby, G1 etc.), **Pleascach** (Irish 1000 Guineas, G1, Yorkshire Oaks, G1 etc.), **Happy Clapper** (four G1 wins, Australia) **Humidor** (three G1 wins, Australia) and Hong Kong's best middle distance runner **Exultant**, winner of the Hong Kong Vase, G1, Queen Mother Cup, G3, second Champions & Chater Cup (G1), third behind champions Churchill and Thunder Snow in Irish 2000 Guineas (G1).

Mutajally's dam, the Shadwell filly **Dhelaal**, is a daughter of Champion sprinter **Green Desert**, and she is a half sister to **Alhaarth**, an undefeated Champion 2yo in Europe and successful stallion, sire of 2,000 Guineas (G1) / Champion Stakes (G1) winner **Haafhd**.

Dhelaal is also the dam of **Makfi**, 2000 Guineas (G1) winner, successful stallion; sire of **Make Believe** (undefeated 2yo, winner of the Poule d'Essai des Poulains / French 2000 Guineas (G1) and Prix de la Foret (G1)), and **Magic Circle**, one of the best staying performers in England (8 wins incl. Henry II St., G3, Chester Cup). This is a family of speed and stamina.

Teofilo - Dhelaal / Green Desert

Top class pedigree and a success at stud

MUTAJALLY STOCKS ARE RISING

Mutajally enjoyed another fine season in 2022. He is the sire of two millionaires, a classic winner in Hampus G, winner of the St. Leger and runner-up in the Derby, the hardy 10-race winner Macjack, Smooth Escape's successful half-brother Perfect Illusion, as well as some of the most talented young homebreds in recent years, like New Man, Flower Power and Redneck, to name but a few of his fine runners. Mutajally's stocks are rising fast.

Mutajally's top earners

Horses listed with broodmare's sire / grandsire, total earnings and 1-2-3 placings.

* denotes horse still in training

NEW MAN (Cajun Cadet / Cadeaux Genereux) ** **677.468 kr**
$$3-3-3$$

QUEEN OF SKARA (Dubai Destination / Kingmambo) **471.686 kr** *
$$5-11-5$$

STOGAS FAIRYTALE (Bertolini / Danzig) 277.172 kr
$$6-4-6$$

I SEE FIRE (Aussie Rules / Danehill) 205.934 kr *
$$3-3-1$$

Average earnings per horse: 596.128 kroner

Teofilo – Dhelaal / Green Desert

Top class pedigree and a success at stud

MUTAJALLY'S TALENTED YOUNGSTERS

Mutajally is well know as a source of tough, durable horses, and he also sires fast, precocious juveniles. Two such runners, **Flower Power** and **Redneck** won important races in 2022. Flower Power captured Øvrevoll Hesteierforenings Vandrepokal, while Redneck won Norsk Rikstoto Oppdrettsløp, with Flower Power third.



Flower Power 2020 b f Mutajally – April Fool / Deceptor



Redneck 2020 ch c Mutajally - Südtirol / Sageburg

Photos by hesteguiden.com

Teofilo – Dhelaal / Green Desert

Top flight stallion the past three seasons

TOP 5 STALLIONS - NORWAY 2022

Top earning stallions with 25 or more starters in 2022, ranked by average earnings per runner.

1 – DECEPTOR / 1.296.099 kr 13 runners / **99.699 kr per runner**

2 – MUTAJALLY / 1.285.966 kr 14 runners / **91.854 kr per runner**

3 – APPEL AU MAITRE / 1.978.182 kr 24 runners / **82.242 kr per runner**

4 – EISHIN DUNKIRK / 704.000 kr 10 runners / **70.400 kr per runner**

5 – BAROCCI / 410.475 kr 36 runners / **11.402 kr per runner**

Mutajally is the highest average earning active stallion in Norway



Mutajally's son Hampus G winning Norway's St Leger with ease

Teofilo – Dhelaal / Green Desert

Top class pedigree and a success at stud

TOP 5 STALLIONS - NORWAY 2021

Top earning stallions with 25 or more starters in 2021, ranked by average earnings per runner.

1 – MUTAJALLY / 791.263 kr 11 runners / **71.933 kr per runner**

2 – DECEPTOR / 594.113 kr 9 runners / **66.012 kr per runner**

3 – EISHIN DUNKIRK / 714.350 kr 13 runners / **54.950 kr per runner**

4 – APPEL AU MAITRE / 1.064.112 kr 23 runners / **46.265 kr per runner**

5 – JUNIPER TREE / 489.352 kr 11 runners / **44.486 kr per runner**

TOP 5 STALLIONS - NORWAY 2020

Top earning stallions with 25 or more starters in 2020, ranked by average earnings per runner.

1 – MUTAJALLY / 831.203 kr 8 runners / **103.900 kr per runner**

2 – CENTER DIVIDER / 745.930 kr 10 runners / **74.593 kr per runner**

3 – DANDY MAN / 441.126 kr 6 runners / **73.521 kr per runner**

4 – OASIS DREAM / 483.118 kr 7 runners / **69.016 kr per runner**

5 – EISHIN DUNKIRK / 1.093.350 kr 17 runners / **64.314 kr per runner**

Teofilo – Dhelaal / Green Desert

- a stallion with a top class pedigree

SADLER'S WELLS (USA) 1981

GALILEO (IRE) 1998

URBAN SEA (USA) 1989

TEOFILO (IRE) 2004

DANEHILL (USA) 1986

SPEIRBHEAN (IRE) 1998

SAVIOUR (USA) 1987

NORTHERN DANCER (CAN) 1961

FAIRY BRIDGE (USA) 1975

MISWAKI (USA) 1978

ALLEGRETTA (GB) 1978

DANZIG (USA) 1977

RAZYANA (USA) 1981

MAJESTIC LIGHT (USA) 1973

VICTORIAN QUEEN (USA) 1971

MUTAJALLY (GB) 2010

DANZIG (USA) 1977

GREEN DESERT (USA) 1983

DHELAAL (GB) 2002

IRISH RIVER (FR) 1976

FOREIGN COURIER (USA) 1979

IRISH VALLEY (USA) 1982

GREEN VALLEY (FR) 1967

NORTHEN DANCER (CAN) 1961

PAS DE NOM (USA) 1968

SIR IVOR (USA) 1965

,

COURTLY DEE (USA) 1968

RIVERMAN (USA) 1969

IRISH STAR (FR) 1960

VAL DE LOIR (FR) 1959

SLY POL A (USA) 1959 (Family 16-c)

www.mutajallystallion.com

Mutajally is nominated to the Scandinavian Breeders' races

Production website & stallion card: Geir Stabell / www.stabell.co.uk

Teofilo - Dhelaal / Green Desert

- a stallion with a top class pedigree

The most successful Norwegian homebred 3yo both in 2018 and 2019 were sons of Mutajally

Mutajally's classy son New Man was the most successful homebred in Norway in 2018. He was in the top flight of his division in both of his seasons to race, winning Norsk Mesterskap for 2-åringer in 2017 and Norsk Mesterskap for 3-åringer in 2018. New Man was handsomely rewarded as the best homebred finisher in the 2018 Norwegian Derby (LR) – a strong renewal of the classic. Twelve months later, another son of Mutajally – Hampus G – ran even better in the Derby, finishing second to the high class import Privilegiado before going on to St. Leger success.



www.mutajallystallion.com

Hampus G: 46 runs: 6-11-5 / 47% top three / Earned 1.191.287 kroner New Man: 14 runs: 3-3-3 / 64% top three / Earned 677.468 kroner

FEES & CONDITIONS, MUTAJALLY 2023

3.000 kr covering + 10.000 kr live foal (48 hours)

Discount: 1.000 kr per mare for owners of two or more mares

For mares based outside of Norway we can also handle all paperwork etc. when crossing borders. In short, we offer a complete service - giving breeders top quality and full peace of mind.

KNUT O. ARNESEN
Phone (+47) 901 03 584
knutoarn@online.no

INGER SKREDE Phone (+47) 901 67 027

MUTAJALLY'S DAM – FROM FAMILY PRODUCING STALLIONS

1st Dam: DHELAAL (GB), unraced;

dam of three winners:

MAKFI (GB) (2007 c. by Dubawi (IRE)), Jt Champion 3yr old in Europe in 2010, Champion 3yr old miler in Europe in 2010, won 4 wins at 2 and 3 years in England and France, £584,722 including 2000 Guineas St., Newmarket, G1, Prix Frenay le Buffard Jacques Le Marois, Deauville, Gr.1

and Prix Djebel, Maisons-Laffitte, G3; stallion.

ZERFAAL (GB) (2011 c. by Dubawi (IRE)), won 2 races at 3 years and placed once.

ELTIFAAT (IRE) (2009 c. by Medicean (GB)), winner in Qatar.

Jadhwah (GB) (2008 f. by Nayef (USA)), ran once at 2 years; dam of 2 winners;

QULOOB (GB), 4 wins on the flat, 1 win hurdles and placed four times.

MUBAJAL (GB), 1 win at 3 years and placed 3 times.

Mutajally (GB) (2010 c. by Teofilo (IRE)), placed once from three starts only, stallion.

2nd Dam: IRISH VALLEY (USA), ran in France at 2 and 3 years;

dam of eight winners from 10 runners including:

ALHAARTH (IRE) (c. by Unfuwain (USA)), Champion 2yr old in Europe in 1995,

won 8 races at 2 to 4 years in England, Ireland France incl. Dewhurst Stakes, Newmarket, G1,

Champagne Stakes, Doncaster, G2, Budweiser International Stakes, Curragh, G2,

Prix Dollar, Longchamp, G2, Prix du Rond-Point, Longchamp, G2,

Vintage Stakes, Goodwood, G3 and Solario Stakes, Sandown, G3, placed second in

Prince of Wales's Stakes, Royal Ascot, G2, Craven Stakes, Newmarket, G3, third in

Irish Champion Stakes, Leopardstown, G1, Sussex Stakes, Goodwood, G1; stallion.

Sire of **HAAFHD**, won 2,000 Guineas, **G1**, and Champion Stakes, **G1**; stallion.

GREEN POLA (USA) (f. by Nijinsky (CAN)), won 2 races at 2 years in France, 276,900 fr.

including Prix du Calvados, Deauville, G3; dam of winners, including:

CAPE LIZBURNE (JPN), won Tokyo City Keiba Jo O Hai, Ohi, LR.

Dalayil (IRE), unraced; dam of winners, including:

OUR AQALEEM (GB), 2 wins in England and Australia including Derby Trial Stakes, Lingfield Park, **G3**, placed third in Vodafone Derby Stakes, Epsom Downs, **G1**, stallion.

3rd Dam: GREEN VALLEY (FR), unraced:

dam of 13 winners from 14 runners and 15 foals of racing age including-

GREEN DANCER (USA), won 4 races at 2 and 3 years in England and France including Observer Gold Cup, Doncaster, **G1**, Poule d'Essai des Poulains, Longchamp, **G1** and Prix Lupin, Longchamp, **G1**; champion stallion.

VAL DANSEUR (USA), won 9 races at 3 to 6 years in France and the U.S.A. including Golden Gate Handicap, Golden Gate, **G2**, Rolling Green H., Golden Gate, **G3**, placed third in Sunset Handicap, Hollywood Park, **G1**; stallion.

ERCOLANO (USA), won 3 races in France including Prix du Lys, Chantilly, G3; stallion.

SIR RALEIGH (USA), won 4 races in France including Prix de la Chapelle, St-Cloud, LR.; stallion.

SOVIET LAD (USA), won 3 races at 2 to 4 years in France and in U.S.A. including Prix de

Pontarme, Longchamp, LR., second in Bernard Baruch Handicap, Saratoga, G1; stallion.

PINK VALLEY (USA), won 3 races at 2 and 3 years in France including Prix d'Aumale,

Chantilly, LR, placed twice including third in Prix Yacowlef, Deauville, LR; dam of winners.

VALLEE DANSANTE (USA), won 1 race at 3 years in France; dam of winners;

BROOKLYN'S DANCE (FR), won Prix Cleopatre, Evry, G3;

dam of **PROSPECT WELLS (FR)**, won Prix Greffulhe, Saint-Cloud, **G2**, second in Grand Prix de Paris, Longchamp, **G1**, **SOLEMIA (IRE)**, Champion older mare in France, 5 wins including Prix de l'Arc de Triomphe, Longchamp, **G1**.

Funsie (FR), unraced; dam of **AUTHORIZED** (IRE), Champion 3yr old in Europe in 2007, 4 wins including Vodafone Derby Stakes, Epsom, G1, Juddmonte International St., York, **G1** and Racing Post Trophy, Doncaster, **G1**, stallion.

www.mutajallystallion.com

